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NOTE: Answer Four Ouestions Onlv

Ql/ A_ Find the total resistance. (15 Mark)

Ql/ B_ The charge flowing
Determine the current in amperes.

10 dl

imaginary surface is 0.16 C every 64 nrs

.+-

n.5a

r5Q

b

through the

(10 Mark)

Q2/ Write the mesh equations for the network ofFig. below, and find the currents through each resistance

6A 8.{

( 25 Mark)

17.5 r}

-r5 Q

70rl

( 25 Mark)

t()t
-----!-

+

:ur = l0 cos 4t 0-l r

\r\s.

l.

Q3/ Find the current i.
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Q4/ Find the Th6venin equivalent circuit ror the bridge network of Fig. below. ( 25 Mark) '

6dl t)r}
+

r ?] \I

3fI .rfi

Q5/ Find the total number of watts, volt-ampere reactive and volt-ampere then draw the power triangle

,, ( 25 Mark)

6Q 7f}+
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Ql: Answer one only:
A) 3-Phase half-wave rectifier with derta-star transformer and (250w,4A) resistiveloadJ- ptot circuit diagram!2-Fird th;;;i;; oi'ti."r".orraury line vortage.

(t5 Marks)
B) 3-Phase Bridge rectifier with A - y transformer have DC power of 600w and l,c,resistive load. 1-prot circuit diagram,2- Find the varue of the secondary line vortage.

(15 Marks)
Q2: For the following circuit find the value of RB:

2ka
RB

44.=45 :

(20 Marks)

Q3: A UJT (UNJLINCTI.NAL TRANSIST.R) has the following data: vBB=25v,Rl:l50KO, VD=0.6v, 11 : 0.65.
l- What is the value of Clthat gives I KHz output frequency?
2- Calculate the maximum value of the 

"apa.itor 
voltage.. (10 Marks)

Q4: For oP-AMp signar Generation, fi, the brank in the forowing in the tabre
Resistances V,, n C K vb Frequency (F)

1 +18 1oKO 0.19F K1 -;1 Vtrt = r,
2 Rn = ZRa +18 1oKO 0.1prF K2 Vtz= Fz=

1,

r!

Final Exam 2020/2021- Model no. (3) _ Firs\ ) Attempt,(

(10 Marks)

Note: Answer All Ouestions

No.

Rn=Rr



Ar-\
Q5: Answer the following: l---" .o, n' lkt i - (25 Marks)

l- WhattheGoldenRulesof idealOS_M_J I 1 ..<?7.
2- Mention the inverter application/s. .prr*a v "'u{,l },.:r.y"+<_-/;k I . j$^
3- Advantage of Back to back switch of SCR full-wave AC-regulator?
4- Mention the UJT (UNJLTNCTIONAL TRANSISTOR) region of operation.
"Htent*m-t@

Q6: A) Answer one only:

- I - Design series invertor
communication time.

bf 400H2 if they have (15dO,'tAltaa resistance and Zhqc

(10 Marks)

\

(10 Marks)

2- Consider the feedback resistance (Rf=10kO)

1-. ';, \,, Design Summing op-amp circuit to solve the following equations

t. v6=ir,-*rr+)vr+vn
\._ 2- vo - 0.2vt + v2 - 0.2v3

B) Triac AC controller supplies electrical fumace of l0 Q heating eleme nt, lbr'\,: 
240 _u. S}Hi-.voltage supply, the control circuit is an integral cycle control circuit that
allows the current to flow for 2 cycles on and be off I cycle. Find:li-the load power (Pt-1.

(10 Marks)supply power factor (P.2-Lhc
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